
  

  
�

   ����� ��	
��
��� � ������  ��  ��  ��  

  �
� �����  ��	 � ������� ��
��� �  !��	�"#   $%  ��  

  �&�&�'$  
 
  

� (��
) *+�,-��: /0�1) �2�345       6 ��"� !� �! 7�89 *
9 �:��-1	 ��;< ��+= /��0�9�> /)
	  .

�+	 �@�+= ��A B�C<
	 
�� D�� ��5+E"� ��9� (C��	.  

��  
��� �F5 G0@
H 
� B��3�9��"�-.  

��� �!��- �30� B
�- �+�
I D��.  

 
1. Economic conditions may be responsible for (the) …………… of social unrest. 

 a. created b. to create c. creative d. creation 

 

2. The executive administrators have a high …………… in organizing activity. 

a. craft b. efficiency c. factor d. issue 

 

3. Tokyo and New York are major …………… centers. 

 a. promotion b. situation c. financial d. imagination 

 

4. His memory is blurred by his illness. “Blurred” means …………… . 

 a. confused b. regarded c. produced d. developed 

 

5. He is usually …………… somewhere near the window. 

 a. precise b. induced c. lurking d. evolving 

 

6. Nobody understands the …………… word of the director. 

 a. massive b. evolving c. intrinsic d. elusive 

 

7. We must allocate the money carefully. “Allocate” means …………… . 

 a. divide b. corporate c. motivate d. lead 

 

8. The government is the highest …………… in the country. 

 a. department b. authority c. commitment d. method 
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9. His principal objective, as a carpet producer, was international fame. “Objective” means 

…………… . 

 a. purpose b. recognition c. concern d. performance 

 

10. There is another interesting …………… of this matter which needs more thinking.  

 a. confidence b. abstraction c. aspect d. skill 

 

11. The doctor has been able to detect some improvement as a result of the medicine. “Detect”  

means …………… . 

 a. perform b. execute c. act d. recognize 

 

12. Obtaining a refund from the company is a complicated …………… . 

 a. set up b. essentiality c. procedure d. progress 

 

13. It is important here to make the distinction between organizing and an organization. The 

former is a process. “The former” refers to …………… . 

 a. important  b. organization c. distinction d. organizing 

 

14. The first step in …………… is the selection of goals for the organization. 

 a. leading  b. controlling c. planning d. organizing 

 

15. Managers are charged with the  …………… of taking actions. 

 a. design b. enterprise c. responsibility d. appropriation 

 

16. There is a(n) …………… agreement between a trade union and an employer about working 

conditions. 

 a. ambitious b. administrative c. collective d. creative 
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17. These …………… matters make no sense to me; give me concrete things to deal with. 

 a. able b. abstract c. motivated d. component  

 

18. His interests in business are very diverse. “Diverse” means …………… . 

 a. valid b. intuitive c. utilized d. dissimilar 

 

19. The new manager implements  program of reforms. “Implements” means …………… . 

 a. confronts b. carries out c. concentrates d. estimates 

 

20. Conditions in the laboratory were not very …………… . 

 a. sanitary b. external c. recreational d. extrinsic 

 

21. The second ingredient of administration is …………… . 

 a. people b. action c. sanitation d. intraction 

 

22. The average …………… of the factory is 30 washing machines a day. 

 a. output level b. short term c. risk d. price 

 

23. We send these goods at owner’s …………… . 

 a. temperament b. variety c. policy d. risk 

 

24. It is our …………… to have most of the industries in this country under local ownership. 

 a. bureaucracy b. cost c. loss  d. policy 

 

25. The immediacy of the problem meant he had to drop everything and solve it. “Immediacy” 

means …………… . 

 a. closeness b. completion c. importance d. behavior 
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26. It was a sheer knowledge of the decision making process. “sheer” means …………… . 

 a. inherent b. vital c. thorough d. essential 

 

27. “They want me to do all the work here,” He …………… . 

 a. grumbled b. sustained c. trained d. adapted 

 

28. The company …………… will be used for improving the condition of the work environment. 

 a. crisis b. funding c. fuzziness d. dismissal 

 

29. The private companys employees received 200,000 Rials Norouz bonus. “Bonus” means 

…………… . 

 a. reward b. contribution c. advice d. discharge 

 

30. He …………… the job as quickly as possible. 

 a. stimulated b. occured c. tackled d. supervised 

 

 

 

 


